H & 0l & AHS B Ml A

20268 20ilat Letel ) 2A Y0
SN EABI Y
g ZgF0e 2l
el ZZgael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SAMI 8,507,458 7,049,905 1,457,553
= 86,233
Jl 3,719,818
AltI 2,080,562
-l 2,620,845
230 2 8,069,110 6,621,811 1,447,299
= 86,233
) 3,684,471
AlH] 2,056,033
Tl 2,242,373
aZgae 1,042,999 1,161,967 118,968
= 86,233
Jl 53,448
AlHI 82,456
-l 820,862
SAMHIA S 52,972 132,895 AT9,923
201 fer= 3| 25,724 77,991 N52,267
01 At 2|l 9,230 8,830 400
OLfefe =4 2d s, 222 S ME
630,000 630
OZgE g Al 223 7
1,000,000& 1,000
OoHgd Yy 82= 7Y
3,000,000 3,000
OXNYEAAZ A3 3|2f& A =5
100,000 *13E 22| 2,600
OoXg=2HoSH & ATt M=
2,000,000& 2,000
02 S3=gl 16,494 69, 161 A\52,667
OFAM &= 100,000& * 122 1,200
OFAI dot=== 50,000& * 122 600
OAgetd &3] 48,0002 48
OR24 HREXYE T2 11,600
sel(8) 2,400,0002 =2CH 4,800
- S2(58) 3,400,000 *2CH 6,800
OXS XAl 226
- SE(EE) 65,0002 2CH 130
}=(58) 48,000 =2CH %
Oo=g= 2,820
- SEH(EE) 750,000 *2CH 1,500
2(5g) 660,000 *2CH 1,320
203 HR=H] 2,502 2,502
03 A=A R =AH] 2,502 2,502
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SN 2HAFH D
I ZEE0Y 2cl
el ZZgael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
224 S ek 2elXE 35,540 36,540 0
Il 17,770
Albl 8,885
Tl 8,885
101 e124d| 35,540 36,540 0
Il 17,770
AltI 8,885
-l 8,885
04 JIZtN2Z2 XS 2 35,540 36,540 0
OJIZtHZ2Z2E (BN RR) 35,540
- Q12| 28,800,000 28,800
J| 14,400
AltI 7,200
-l 7,200
FNgatl 1,560,000 1,560
Jl 780
AlHI 390
-l 390
- REg 480,000 480
Jl 240
AltI 120
-l 120
SXZIE 600,000 600
7l 300
Albl 150
-l 150
HE S| 600,000 600
Jl 300
Altl 150
-l 150
22 288 S 3,500,000& 3,500
Jl 1,750
AlHI 875
-l 875
PAA ZRACIAIY 71,356 136,200 A\64,844
7l 35,678
AltI 35,678
201 Ler23 | 7,000 7,000 0
Jl 3,500
AlHI 3,500
01 At2teltl 7,000 7,000 0
OoZduYy s22 & 428 s 7Y
7,000,000& 7,000




SN EABI Y
I ZEE0Y 2cl
el Z2Eg 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 3,500
AltI 3,500
202 04l 1,000 1,000 0
7l 500
Al 500
NENEE 1,000 1,000 0
OZHMIA L YT DS S(ZHASTA
1,000,000& 1,000
Il 500
AlHI 500
307 lztol & 63,356 128,200 A6B4,844
Il 31,678
AlHI 31,678
NEEEIEET 57,3 121,200 63,844
OZE DAV S HANS 28 L F=H
sh2g 2l 39,356,000& 39,35
Jl 19,678
AlH] 19,678
OZHAZE Y ORADE
5,800,000 5,800
Jl 2,900
AltI 2,900
OZHASIEZA S 8,200,000& 8,200
Jl 4,100
Al 4,100
OZBtA IIEEEL A
800,000& 800
2l 400
AlH] 400
ogEdls i X3
3,200,000& 3,200
Jl 1,600
Al 1,600
05 git?(& = 6,000 7,000 21,000
OZSBN NISHEX ZAH| Z¢ 9t
6,000,000 6,000
7l 3,000
AltI 3,000
SAAS 375,305 366,807 8,498
101 @124H| 319,435 312,767 6,668
MU IIRIMZZENSES 319,435 312,767 6,668
OStEV I ESLSAY JI2HNZ2 A 2= 179,791
bl 44,888 x32H «282 x4 160,879
-=RUASRES 160,879,000 5% 8,044




SN EABI Y
I ZEE0Y 2cl
el Z2Eg 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
EREEEES
160,879,000 *3.545% 5,704
WINLQALERYS
5,704,000 *12.95% 739
- IEEERES 160,879,000 *1.75% 2,816
MIHEERES 160,879,000 * 1% 1,609
OgSHR JIZAN2Z2A 2= 139,644
- Q12| 89,7762 «8H 28 L6 120,659
-=H=SRES 120,659,000 +5% 6,033
R
120,659,000 +3.545% 4,278
BRYPERY
4,278,000& *12.95% 555
- IEEERES 120,659,000 *1.75% 2,112
MIHEERES 120,659,000 * 1% 1,207
SN 300,000 x84 2,400
SE S| 300,000 8% 2,400
201 er2 3| 4,700 4,700
01 AtR2te|HI 2,700 2,700
Ooggo® 25&+ 1,700,000 1,700
Oogs2al 1,000,000& 1,000
2 35244l 2,000 2,000 0
OgSEHl |FX2= 2,000,000& 2,000
206 MH=Hl 45,820 45,900 A80
01 MZH| 45,820 45,900 A80
O=2R8 «4=H 22,200,000 22,200
OS2Il Al 13,020,000 13,020
OxFezgad 45 X2
4,800,000 4,800
O=SHA 4,800,000 4,800
OJIEt 223 1,000,000 1,000
405 KHoHFSHI 5,350 3,440 1,910
01 ML ESFSHI 5,350 3,440 1,910
OogdgasE 34l 7Y 5,350,000& 5,350
Asds= X 31,000 35,000 24,000
Alt] 16,500
Tl 15,500
206 M=l 24,800 28,000 23,200
AlH] 12,400
Tl 12,400
01 MZH| 24,800 28,000 A3,200
O=2iktsga N 24,800,000& 24,800

Al

12,400




SN EABI Y
mH: oy 2
&l gy (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 12,400
302 OI=H M2 &= 6,200 7,000 A800
Albl 3,100
Tl 3,100
02 QRIS ES2a= 6.200 7,000 A800
O=2ixtsgsd X2 6,200,000& 6.200
Alt] 3,100
Tl 3,100
SHUIOL TIIGHAF HIoHAt M&FZA & RAZ X2 63,840 61,200 2,640
= 63,840
301 LELEE S 63,840 61,200 2,640
= 63,840
01 Al EE A S(FRNEXA) 63,840 61,200 2,640
Ogtdiel TIoHAA TIIoH A+ 24K &
63,840,000 63,840
= 63,840
SHIZHO| S 22 & Mot AEIXIRA 6,786 6,498 2838
= 3,393
AlHI 3,393
307 @I2t01 & 6,786 6,498 288
= 3,393
AltI 3,393
0122 & 3=l 6,786 6,498 288
OMotetdiel AAHl X
6,786,000& 6,786
= 3,393
Albl 3,393
DL HLES 18,834 18,761 73
101 21A4H| 17,534 17,461 73
04 JIZtN2Z2 XS+ 17,534 17,461 73
OZZLHOUEES JI2HNZZ2 A 2= 17,534
kal:] 2,400,000~ 1 +6E 14,400
-2UASEERYES
14,400, 0002 *5% 720
SUALBEHRES
14,400,0002 *3.545% 511
IRLESRE=
511,0002 %12.95% 67
- IEZ2ERES 14,400,000 *1.75% 252
- MHEERES 14,400,000 * 1% 144
SAZE 300,000& %1 300
SE S| 300,000& 1 300
gNgatl 140,0003 1 *63] 840
201 er23| 1,300 1,300 0




SN EABI Y
I ZEE0Y 2cl
el ZZgael EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 1,000 1,000 0
OudE A& M& S 1,000,000& 1,000
2 ZZ2H| 300 300 0
ONYRE Bt 2HRS S
50,0002 6 300
PAA ZREA A R NEXE 38,000 0 38,000
= 19,000
AltI 19,000
307 elztol & 38,000 0 38,000
= 19,000
AlHI 19,000
019z & 3=H| 38,000 0 38,000
OR2AA 2SI 2N L FE K&
38,000,000& 38,000
= 19,000
Alt] 19,000
SR NHIA St 7,026,111 5,459,844 1,566,267
Jl 3,631,023
AltI 1,973,577
-l 1,421,511
olol= & o (ool =&xt &ZH|) 90,000 68,240 21,760
Jl 45,000
AlHI 45,000
307 21201 & 90,000 68,240 21,760
Jl 45,000
AltI 45,000
0122 & 3=l 90,000 68,240 21,760
Oolloj =2kt d=Hl X
90,000,000 90,000
Il 45,000
Altl 45,000
HIV ZIEFAISE 00 S 5,000 5,220 A220
) 2,500
AlH] 2,500
307 @12t01 & 5,000 5,220 A220
Il 2,500
AlHI 2,500
0122 & 3=l 5,000 5,220 A220
CHIV &IHAIF F0H S 5,000,000 5,000
Jl 2,500
AltI 2,500
S0HH 2gY 23 L ISXA(AEA FC]) 8,020 8,020 0
Il 4,010




SN A
mH: oy 2l
chelr oS MHIA Erat EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 4,010
307 gl2tol & 8,020 8,020 0
Il 4,010
AlHI 4,010
012z € 2/=H] 8,020 8,020 0
Oagd &gl S 8,020,000& 8,020
7l 4,010
AltI 4,010
SEEE 1,600 9,600 28,000
301 LEtE NS 1,600 1,600 0
14 IIEt2d3 1,600 1,600 0
OSSHI WS ZAH| 1,600,000 1,600
A WHEHES2ARE 2SN 1,990 2,000 A10
Jl 1,393
AlHI 597
201 et 3| 1,990 2,000 A10
Jl 1,393
AltI 597
01 AtR2t2lt] 1,990 2,000 A10
OXIS e OWAT 24 1,990,000 1,990
Jl 1,393
AlHI 597
I E QIHZA JISAHY 1,500 1,500 0
AlH] 1,500
201 2egh=3| 1,500 1,500 0
Alt] 1,500
01 AtR2te|HI 1,500 1,500 0
OFIl & AHMZEZH JIS 1,500,000 1,500
AlHI 1,500
SEAYAS 6,000 3,000 3,000
201 er2&y| 3,000 3,000 0
01 AtR2t2|HI 3,000 3,000 0
O EH A 3,000,000& 3,000
301 EtE NS 3,000 3,000
14 JEt2a s 3,000 3,000
O ALY 3,000,000& 3,000
2N EES AA(XIR) 4,006,080 4,160,000 103,920
Il 2,028,040
Altl 1,014,020
Tl 1,014,020
307 212+01& 4,006,080 4,160,000 103,920
7l 2,028,040




SN EAEY
I ZEE0Y 2cl
chelr oS MHIA Erat EER=E)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
Alt] 1,014,020
Tl 1,014,020
0192 & 3=l 4,056,080 4,160,000 /103,920
O0el0l OIeES 2,160,760,000& 2,160,760
Jl 1,080,380
Altl 540,190
Tl 540,190
odol HgEs 1,892,180,000& 1,892,180
Jl 946,090
Albl 473,045
Tl 473,045
Opgl2tg =MZg ollet 3,140,000& 3,140
Il 1,570
Altl 785
Tl 785
QISR ES 141,820 179,440 A37,620
AlHI 70,910
Tl 70,910
307 elzto| & 141,820 179,440 A37,620
AltI 70,910
-l 70,910
012z & 2=Hl 141,820 179,440 A37,620
OAIHES S HYES N
141,820,000& 141,820
AlHI 70,910
Tl 70,910
HeEEss 29 46,700 128,079 A\81,379
201 er2 3| 5,000 5,000 0
01 At2t2lt] 4,000 4,000 0
ONgESHIE & E2= ME S
3,000,000& 3,000
OUZLEEANY S B82S 78
1,000,000& 1,000
02 s3=gHl 1,000 1,000 0
ongEs2d 2RSS S
1,000,000 1,000
307 elztol & 41,700 106,218 A\64,518
0122 & 2= 41,700 106,218 N\64,518
F2 LS AuSBELS S)
41,000,000& 41,000
OHgEsd 223 700,000& 700
IZLHI HEES &Al 2,547,401 889,124 1,658,277
Jl 1,550,080
AlHI 775,040




SN 2HAFH D
I ZEE0Y 2cl
chelr oS MHIA Erat EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
-l 222,281
307 gl2tol & 2,547,401 889, 124 1,658,277
Il 1,550,080
AlHI 775,040
Tl 222,281
0192 & 3=Hl 2,547,401 889,124 1,658,277
OFE2=I|2 HLES Ayl
2,547,401,000& 2,547,401
Jl 1,550,080
AlHI 775,040
Tl 222,281
ANSHFRFSHIOIHA HEES N3 AIZAI 120,000 0 120,000
AltI 60,000
-l 60,000
307 @120l & 120,000 0 120,000
Altl 60,000
Tl 60,000
0122 & 3= 120,000 0 120,000
OV Ol ST
100, 0002 *400E 32 120,000
AlH] 60,000
Tl 60,000
AH2LIH(EAHF D) 438,348 428,094 10,254
Jl 35,347
AltI 24,529
Tl 378,472
eIg =g 326,326 315,888 10,438
Il 35,347
AlHI 24,529
Tl 266,450
el 24| 238,487 238,487 0
101 @124H| 238,487 238,487 0
01 &2 238,487 0 238,487
O2AAx LBAI MBS AL 2AAH 238,487
A3 86,333,000 x2& 172,666
- OERE 40,0003 x2&~ 123 960
2R eE 1,312,000 x2& * 122 31,488
Az Al 140,000 x2&* 122 3,360
- G2 A
6,793, 0003 x22 »84%+80%+ 1/30+202 6,544
S EXH| 400,000& x2E12& 9,600
Z2RE
14,4463« 2 *40A| 2+ 123 13,869
oE2dt|(H=g 22| MY2ASA 46,607 45,522 1,085




SN EABI Y
A HYRAZH(EAHHF L)
s lIEE2ghl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 21,634
AltI 10,816
-l 14,157
101 21AH| 38,607 37,522 1,085
Jl 17,634
AltI 8,816
-l 12,157
03 SRA(RIH )22 U2+ 38,607 37,522 1,085
OZHEG2USA 38,607
|22 (75398, 853:38)
29,673,000 29,673
7l 14,837
AltI 7,418
-l 7,418
FNgatl 140,000« 12& 1,680
Jl 840
Altl 420
-l 420
HSa0i=2 1,336,620& x1H 1,337
E=E 160,000& « 12& 1,920
Il 960
Albl 480
Tl 480
JEFOHI 996, 1103 *22 1,993
Jl 997
AlHI 498
SE] 498
AR ENLL (5 IIF)
111,300 18 2,004
202 04l 1,200 1,200 0
Jl 600
Al 300
Tl 300
01 2LHoIH 1,200 1,200 0
OZLH0AH| 100,000& « 12& 1,200
Jl 600
Albl 300
Tl 300
04 HSRESS 6,800 6.800 0
Il 3,400
Altl 1,700
Tl 1,700
M SRA(RIHY) 22X EE=RE=s S 6.800 6.800 0




SN EAMEY
A HYRAZH(EAHHF L)
el QIEE2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OL8zs JII2RE= S 6,800,000 6,800
Jl 3,400
Albl 1,700
Tl 1,700
A2 (LT EESHEHR2Y) 41,232 31,879 9,353
Jl 13,713
Albl 13,713
Tl 13,806
101 e124d| 37,260 28,457 8,803
7l 12,389
AltI 12,389
-l 12,482
03 SRA(RIH )22 UHE 4 37,260 28,457 8,803
OUHYEESELH =2 2SA 37,260
|122(453+38 ,5658+98)
28,895,000 28,8%
Il 9,601
AlHI 9,601
Tl 9,693
gl 140,000~ 12& 1,680
7l 560
AltI 560
Tl 560
-daoE 1,273,000& 1,273
Jl 424
AlHI 424
Tl 425
- ERE 140,000« 12& 1,680
7l 560
AlHI 560
-l 560
- HESIH 1,922,000& 1,922
Jl 641
AltI 641
-l 640
REPNCPIESS] 113,080 » 16 1,810
Jl 603
AltI 603
-l 604
202 04| 720 600 120
7l 240
Albl 240
-l 240
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